Please typeset the solution with appropriate math symbol editor.  Please, no stuff like “<=”

I’ve provided the answer already.  Please show how you arrive at the answer.

Use words in your solution process.  

If you use a computer, please include the details of that work as well.
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The annual temperature of a city is obtained by finding the mean of the mean temperatures on the 15th day
of each month. The standard deviation of the annual temperatures of the city over a period of 100 years
was 16° Fahrenheit. During the last 15 years a standard deviation of annual temperatures was computed as
10° Fahrenheit. Test the hypothesis that the temperatures in the city have become less variable than in the
past, using a significance level of (a) 0.05, (&) 0.01.




answer:

[image: image2.png]7.85. The apparent decrease is significant at the 0.05 level but not at the 0.01 level.




